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Q) If f(x) = x %0,
| X |
where [ ] denotes the greatest
integer function, then what is the
right-hand limit of f(x)at x =17
(@) -1
(©) 0
() 1
(d) Right-hand limit of f(x) at x = 1does
not exist
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o(l'ro f[x)
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QI fx)= x 20

| X1

EXAMS

where [ ] denotes the greatest

integer function, then what is the

right-hand limit of f(x)at x =17

(@) —1

(b) 0

()

(d) Right-hand limit of f(x) at x = 1does
not exist

Ans: (c)
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Q) Consider the following function /: R — R such that
fix)=xif x > 0 and flx) =—=x2if x < 0. Then, which one of the
following 1s correct?
(@) f(x) 1s continuous at every xeR

(b) f(x) 1s continuous at x =0 only § 1=0
(c) f(x) 1s discontinous at x = 0 only -
(d) f(x) 1s discontinuous at every xeR 'f[ 0 ) = 0
>
gy = —0)7 =0

pz, Zlg Xro

{(X) - 4 =

_12/ 1<

L=

Ryt = 0
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Q) Consider the following function /: R — R such that
fix)=xif x > 0 and flx) =—=x2if x < 0. Then, which one of the
following 1s correct?
(@) f(x) 1s continuous at every xeR
(b) f(x) 1s continuous at x =0 only
(c) f(x) 1s discontinous at x = 0 only
(d) f(x) 1s discontinuous at every xeR

Ans: (a)
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Q) A function f 1s detined as follows
1),” 0, f(0)=0

f(x) = x” cos (
X

What conditions should be imposed on p, so that f
may be continuous at x = 07

(a) p=0 (b) p>0

(¢c) p<O (d) No value of p
Aim 4[] - = dim ffx

1—0°" f { 1—0* f )

LHL df (1:0)
Am ZPWH):O
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EEEEE

Q) A function f 1s detined as follows

f(x)=x" cos (1) ,x#0, f(0)=0.

X

What conditions should be imposed on p, so that f
may be continuous at x = 07

(@) p=0 b) p>0
(c) p<O (d) No value of p

Ans: (b)



NDA 1 2025 LIVE CLASS - MATHS - PART 4
(@]

Q) Let [.] denotes the greatest integer function and
f (x)= [tan® «], then
(a) limf (x) does not exist

r— 0
(b) f(x)is continuous at x =0
(¢) f(x)1is not differentiable atx =0

d f7(0)=
mife value
() dim [Tw0'n| = [0] -0 X { |
) ) :’D[ ] #Acrcﬁre .ﬁ;"ﬂqoﬂx) extsfs .
(6) AL lm [fa» l] '(’”’[ fan® (o ”)] fl) is  Gonfnous
h—p
f1=0
RAL = & [‘fﬂnx 2 .Cm) [fan’(wﬁ)] 1 -/

x—0f
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(0 ‘{(l) Is difﬁvmff&é/& af 1::9/ oA it ;9]
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onfinous  af =0

() {0 =1 — «

f(x) = [’/anzlj
{'(1) = L_ra? foan (guzz)]
76) = (460 (1)) = (0] = 2.
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Q) Let [.] denotes the greatest integer function and
f (x)= [tan® «], then
(a) limf (x) does not exist

r— 0
(b) f(x)is continuous atx =0
(c) f(x)1is not differentiable atx =0

d f (O0)=1

Ans: (b)
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log (1 + ax) — log (1 — bx)
X

1s not defined at x=0. The value which should be
assignedto fat x =0, sothatitis continuousatx =0, is

(a)a—b (b)a+ b
(c) loga + logh (d) None of these

Q) The function f (x) =

d(ﬂn f(l) __g'(l"al) ~ Co,y(/-LaQ = Wvd 0 form

25, Afy J@—- js nof da/’nnw(
=Y d‘(x)

X
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- H-ax) I-bx__ dim {T1)
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log (1 + ax) — log (1 — bx)
X

1s not defined at x=0. The value which should be
assignedto fat x =0, sothatitis continuousatx =0, is

(a)a—b (b)a+ b
(c) loga + logh (d) None of these

Q) The function f (x) =

Ans: (b)
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Q) sSin (n cos’ \)
lim 5 1s equal to:
x—0 X~
T
@ -m (b) = © 3 d) 1
sin( n"co;"x) - g}'n(ﬂ( /- giota) an(ﬁ_e) - Sin®

1)

gm ( T - Wf?n“x) v

9 (7r sin "x) }
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Q) sin(n cos’ x)

lim 5 1s equal to:
x—0 X<
T
@ -m (b) = © 3 (d) 1

Ans: (b)
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2sIn” x+smn x—1

Q) What is lim :
w3 2ein” x—3sinx+1

equal to?

Pulttin x=T makes 0 fmm/
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i -
2sIn” x+sinx—1

Q) What is lim equal to?
L 2sin’® x —3sin x + 1
6
1 1
a) — — b) — — c)—2 d) -3
(@) 5 (D) - (C) (d)

Ans: (d)
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sin'x—tan ' x .

Q) Iim . is equal to
x— 0 x°
(@) 0 (b) 1 (c) —1
D
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-g/
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sin'x—tan ' x .

Q) lim ; 1s equal to
x— 0 X
(@) 0O (b) 1 (c) —1

Ans: (d)

(d) 1/2
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Q) Consider the function

ax —2 for 2<x<-1
fx)= 1 =1 for -1<x<1

_a+2(x—1)2 for 1<x<2

What is the value of a for which f(x) is continuous at x =—1
andx=17?

(@ -1 L) 1 r

© 0 @ 2 L' {(x} = 7[(’) - ;(’_'2, . 7{[1)
0<[‘ﬂ) z 7((—/) > Afn‘) ="

'1—4(_/)‘ L— (—'I)* - = a + 2 (, —I)L
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Q) Consider the function

ax —2 for 2<x<-1
fx)= < —1 for -1<x<1

_a+2(x—1)2 for 1<x<2

What is the value of a for which f(x) is continuous at x =—1
andx=1?

@ -1 () 1
© 0 d 2

Ans: (a)

@i=]
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Q) 1f lim

X — oo

x° +1

_x2+1

—

— (ax + b)

—

(a) a=land b=1
(c) a=land b=-2

= 2,then

(b)) a=1land b=-1
(d) a=1and b= 2
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Q) 1f lim

X — oo

x° +1

_x2+1

—

—(ax + b)

—

(a) a=land b=1
(c) a=land b=-2

Ans: (c)

= 2,then

(b) a=land b=-1
(d) a=1land b=2
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Q) What is lim a +b

n—)man _bn

where a> b > 1, equal to?
(@) — 1 (b) O

(c) 1

(d) Limit does not exist
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a + b"

Q) What is lim

n—)man _bn

where a> b > 1, equal to?
(@) — 1 (b) O

(c) 1

(d) Limit does not exist

Ans: (c)

XAMS



NDA 1 2025 LIVE CLASS - MATHS - PART 4
(@]

EXAMS

1+i, D x <2
Q) Let f(x)=19" " 2

| %, 28 %<4
If lim f(x) exists, then what is the

X— 2

value of k?
(@) -2 (b) — 1
()0 (d) 1
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X
14, 0 2
Q) Let f(x)=1" " 2"

| %, 28 <4
If lim f(x) exists, then what is the

xX— 2
value of k?
(@) -2 (b) -1
()0 (d) 1

Ans: (d)
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Q) Consider the following statements

in respect of the function.
. 1
f(x)=sin (?], x #0.

1. It is continuous at x =0,
if f(0)=0.
. 2
2. It is continuous at x = T
X
Which of the above statements
is/arc corrcct?
(@) 1 only (b) 2 only
(c) Both1and 2 (d) Neither 1 nor 2

@i=]
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Q) Consider the following statements

in respect of the function.
. 1
f(x)=sin (?], x #0.

1. It is continuous at x =0,
if f(0)=0.
2

2. It is continuous at x = —.

Vx

Which of the above statements
is/arc correct?

(@) 1 only (b) 2 only

(c) Both1and 2 (d) Neither 1 nor 2

Ans: (b)

@i=]
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Q)If f(x)= \/25—:{2 , then what is lim f(x) = f(1) equal to?

x—1 x—1
1 1

@)~ 43 43

1 1
ﬁ (b) E ()
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Q)If f(x)= \/25—x2 , then what is lim f(x) = f(1) equal to?

x—1 x —1
1 1

o W UG

1 1
o O ©

Ans: (a)
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